Y2 - Autumn - Block 1 - Step 5 - Use a place value chart Answers

Question  Answer
a) There are 5 tens and 3 ones.

The number represented is 53

b) There are 3 tens and 5 ones.
The number represented is 35

The children should draw 3 tens and 4 ones to complete the number 47
The children should write the number 4 in the tens column

The children should draw 2 more tens counters and 6 more one counters.
The children should draw 3 tens and 5 more ones.

a) 20+6=26
b) 30+0=230
c) 0+9=9

a) There are 9 tens and 4 ones. The number is 94
b) The are 7 tens and 5 ones. The number is 75

The children should say they agree with Dexter, because 1ten and 11 ones is equal to 2
tens and 1 one.




